



What is Overfitting?	How to Diagnose Overfitting? Exercise
Overfitting is learning a model that fits the training data very well, but does not generalize well.	
(Generalize = predict accurately for new examples.)	
<ロト (聞) (注) (言) (P) (P) (P) (P) (P) (P) (P) (P) (P) (P	< 中> 〈母> 〈言> 〈言> 〈言> 〈言) 、 言、 かん(や

















٦Г

Normal Equations Derivation: Vectorized Cost Function

$$J(\theta) = \frac{1}{2} \sum_{i=1}^{m} (h_{\theta}(\mathbf{x}^{(i)}) - y^{(i)})^2 + \frac{\lambda}{2} \sum_{j=1}^{n} \theta_j^2$$

$$= \frac{1}{2} (X\theta - \mathbf{y})^T (X\theta - \mathbf{y}) + \frac{\lambda}{2} \hat{\theta}^T \hat{\theta}.$$
Set θ

$$\hat{\theta} = \begin{bmatrix} \mathbf{0} \\ \theta_1 \\ \theta_2 \\ \vdots \\ \theta_n \end{bmatrix} = \hat{I}\theta$$

Normal Equations Derivation

$$J(\boldsymbol{\theta}) = \frac{1}{2} (X\boldsymbol{\theta} - \mathbf{y})^T (X\boldsymbol{\theta} - \mathbf{y}) + \frac{\lambda}{2} \hat{\boldsymbol{\theta}}^T \hat{\boldsymbol{\theta}}$$

Set derivative to zero and solve (review on your own)

$$0 = \frac{d}{d\theta} J(\theta) = (X\theta - \mathbf{y})^T X + \lambda \hat{\theta}^T$$

$$0 = X^T (X\theta - \mathbf{y}) + \lambda \hat{I}\theta$$

$$X^T X\theta + \lambda \hat{I}\theta = X^T \mathbf{y}$$

$$(X^T X + \lambda \hat{I})\theta = X^T \mathbf{y}$$

$$\theta = (X^T X + \lambda \hat{I})^{-1} X^T \mathbf{y}$$

Linear Regression: Regularized Gradient Descent

$$J(\boldsymbol{\theta}) = \frac{\lambda}{2} \sum_{j=1}^{n} \theta_j^2 + \frac{1}{2} \sum_{i=1}^{m} (h_{\boldsymbol{\theta}}(\mathbf{x}^{(i)}) - y^{(i)})^2$$

・ロト・日本・日本・日本・日本・今日の

Repeat until convergence

Linear Regression: Regularized Gradient Descent

$$J(\boldsymbol{\theta}) = \frac{\lambda}{2} \sum_{j=1}^{n} \theta_{j}^{2} + \frac{1}{2} \sum_{i=1}^{m} (h_{\boldsymbol{\theta}}(\mathbf{x}^{(i)}) - y^{(i)})^{2}$$

Repeat until convergence

$$\theta_0 \leftarrow \theta_0 - \alpha \sum_{i=1}^m (h_{\theta}(\mathbf{x}^{(i)}) - y^{(i)})$$

$$\theta_j \leftarrow \theta_j - \alpha \left(\lambda \theta_j + \sum_{i=1}^m (h_{\theta}(\mathbf{x}^{(i)}) - y^{(i)}) x_j^{(i)} \right), \quad j = 1, \dots, n$$

Linear Regression: Regularized Gradient Descent Update rule for θ_j after simplification: $\theta_j \leftarrow \underbrace{\theta_j(1 - \alpha \lambda)}_{\text{shrink}} - \underbrace{\alpha \sum_{i=1}^m (h_{\theta}(\mathbf{x}^{(i)}) - y^{(i)}) x_j^{(i)}}_{\text{old gradient}}, \quad j = 1, \dots, n$ Interpretation: first "shrink" weights, then take gradient step for unregularized cost function

Logistic Regression: Regularized Gradient Descent

$$J(\theta) = \frac{\lambda}{2} \sum_{j=1}^{n} \theta_j^2 + \sum_{i=1}^{m} \left(-y^{(i)} \log h_{\theta}(\mathbf{x}^{(i)}) - (1 - y^{(i)}) \log \left(1 - h_{\theta}(\mathbf{x}^{(i)}) \right) \right)$$

Algorithm:

Repeat until convergence

$$\begin{aligned} \theta_0 &\leftarrow \theta_0 - \alpha \sum_{i=1}^m (h_{\theta}(\mathbf{x}^{(i)}) - y^{(i)}) \\ \theta_j &\leftarrow \theta_j (1 - \alpha \lambda) - \alpha \sum_{i=1}^m (h_{\theta}(\mathbf{x}^{(i)}) - y^{(i)}) x_j^{(i)}, \quad j = 1, \dots, n \end{aligned}$$

(Again: same as linear regression, but different $h_{\theta}(\mathbf{x})$)

・ロ>・(型>・(目)・(目)・(目)・目・のへの

